MTH 133, Section 61 Quiz 3 September 20, 2016

Name: ID:

Clear your desk of everything except pens, pencils and erasers. Show all work clearly and in order. No
notes, phones and calculators. You have 15 minutes to finish these three problems for 10 points.

1. (3 points) Evaluate the following indefinite integral:

1
/ dx
rinz

A-Sub m-'/n)(j oguf’LJX
f/m o
= hode
= Inju) + C = [nfénxé +C/\

2. (2 points) Find f’(a") if f(:c) logq 3
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3. {5 points) Solve the initial value problem ¢’ = 2ze™¥ y(1) = 0.
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